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QUESTION 1

Given the code fragment:

public static void main(Stringl[] args) {
String name = “Rita”;

int age = 14;
/* line nl */

Which code fragment, when inserted at line n1, enables it to print Rita is 14 years old?
A. System.out.printin("%s is %d years old" +name+age);

B. System.out.printin("%s is %n years old" name, age);

C. System.out.printf("%s is %d years old", name, age);

D. System.out.printf("%s is %n years old", name, age);

Correct Answer: C

14 - public class Course {
15~ public static wvoid main (5tring[] args) {

16 S5tring name = "Rita";

17 int age = 14;

18 System,out.printf("%: is #d years old", name, age);
19 ¥

28 1

DK 1.0.4 b

CommandLine Arguments

Result
CPU Time: 0.17 seei(s), Memary: 31916 kilohyta (=)

Rita is 14 years old
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QUESTION 2

Given the code fragment:

int value = 10;
int a = ++value;
int b = wvalue;

int ¢ = valuet+;
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if fa<= b & @ <=}

if (b <= c) {

a = +tb;
} else |
a = ++c;

}

System.out.printla(a)-;

What is the result?
A. 10
B. 11
C.12
D. 13

Correct Answer: C

QUESTION 3

Given the contents of Student.java:
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class Course {
String courseName;
}
public class Student {
String stuName;
public static void main(String[] args) {
Student s = new Student/();

s.stuMName = args[0];
Course c = new Coursel();
c.courseName = args[1l];

System.out.println{s.stuName +” is studying “+ c.courseName);

Which statement is true?

A. The commands: javac Student.java java Student Richard William Java throw an error about a missing Course.class
file.

B. The commands: javac Course.java javac Student.java java Course java Student "Richard William" Java are used to
print Richard William is studying Java.

C. The commands: javac Student.java java Student Richard William Java are used to print Richard William is studying
Java.

D. The commands: javac Student.java java Student "Richard William" Java are used to print Richard William is studying
Java.

Correct Answer: A

QUESTION 4

Given the code fragment:

int a = 3;
a = ++ta + atd;
g eSS ge=sg

System.out.println (a):;

What is the output?

A.8

B.3

C.0

D. A compilation error occurs.

Correct Answer: C
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public class Test {
public static void main (String[] args) {
int o= 3;
0= ++0 + 04+;
a=--a- a--;
System.out.println (a);

DK 1.0.4 '

CommandLine Arguments

Result

CPU Time: 0.15 sec(s), Memory: 30492 kilobyte(s)

QUESTION 5
Given:

1. class Test |

P /¥ comment text 1 */
3. // comment text 2 //f
a. /S comment text 3

B. and comment text 4 //
6. /* comment text 5

b and comment text & */
8. 1

At which line does a compilation error occur?

A.line 5
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B. line 2
C.line 3
D.line 7

Correct Answer: A
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